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Chapter 2:

Exercise 22 (b) Show that p
(n)
ii = pn

ii and limn→∞ p
(n)
ii = 0.

page 89: p(0) = (0, 1, 0, 0, 0, 0)T , P 2p(0) and P 3p(0)

Chapter 4:

page 163, Example 4.11: Prob{Yj = 0} = 1− exp(−γx)(1− p0)

Chapter 6:

Table 6.1: σ2(t)

Exercise 9 (b) M(θ, t) = [1 + (eθ − 1)e−µt]N exp
(

ν

µ
[eθ − 1][1− e−µt]

)
Chapter 8:

Section 8.5:
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∂x

∫ ∞

−∞
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−∞
p(z, t;x, t−∆t)(z − x)2 dz
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dz,

Exercise 8: dX(t) = r(X(t)− E)dt + c(X(t)− E)dW (t), p(x, 0) = δ(x− x0)

Exercise 10: dX(t) = adt +
√

bdW (t), p(x, 0) = δ(x− x0)

Exercise 14: dX = [b(X)− d(X)]dt +
√

b(X) + d(X) dW


